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#include <map>
#include <set>
#include <ctime>
#include <cmath>
#include <stack>
#include <queue>
#include <vector>
#include <cstdio>
#include <cstdlib>
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#include <cstring>

#include <iostream>
#include <algorithm>
using namespace std;

const int maxn = 10000 + 5;
const int maxm = 100000 + 5;
int N;/0 0O
int M;/0 0

int inimaxn!, out/maxn];//0 00O

int flag;/000000O

int Flmaxn], nxt[maxm << 1], v[maxm << 1], ban[maxm << 1], EID = 0;/000[
O00O0OObanOOOODOOOOOOO

int st;//00

int stkl[maxm|, top = 0;/00 0110

inline void add(int f, int t

nxt EID| = F[f];
v EID| = t;
FIf] = EID++;

inline void dfs(int x

stk|[++top| = Xx;
top == M+ 1

int i = 1;i <= top;++i
printf("sd ", stkii]);

printf("\n");

flag = true;

int 1 = F[x];1i = -1;1i = nxt[1i
ban|i

ban[i] = 1;

ban/i ~ 1] = 1;

dfs(vii]);

ban[i] = 0;

ban[i ~ 1] = 0;
flag

--top;
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int main

memset(F, -1, sizeof F);

scanf("%d%sd", &N, &M);
int i = 1;1 <= M;++i
int u, v;
scanf("%d%d", &u, &v);
add(u, v);
add(v, u);

++in(v], ++outful;

int i = 1;1 <= N;++1)/000 0
out/i] &
st = i;
st == /0000000000000 0O0OoOoooooooooono
st = 1;
dfs(st);
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